For more practice, see £xue - -

ice bY gxample Find the x- ang y.;
Fra‘t le 1 1 Yeintercepts of eqe
| Examp ) L X+ 2y = g each equation
29 .
(page 4 —6x +3y = _g e 3, 5% 4 = 30
= _ . =B A = &
— 5'
7. =2x -~ 3y = _1p 8 jx+12y: e 6. 9x — 6y = ~72
. Tx — _
omple2  Mateh each cqua 2y =4 9, —8r + 10y =40
299 on with i
(page 299) 10. 25 = 5y — 1 Wwith its graph,
11. -2
A. 5] X+ 5y =10 12.2x + 5y = 10
i Y B :
y r’v C. Y
—2 0 -
| 2 4 ,4/3 74__——’&
J | —4 —2 O 2
Graph each e i
quation usi .
£, 5 g =3 using x- and y-intercepts.
: —IX =+ = 6 ) T
. Y 17. —2x +y = —6 18.5¢ — 3y = 15
Example For each equation
, tell i :
(page 299) 9.y - 1 whether its graph is a horizontal or a vertical line.
20.x = 4 2.y = 2% 22.x = —3.75
Graph each equation.
4. x = =7 25.y = —1.5 26. x = 4.5
E(xamp;gol)l Write each equation in standard form using integers
page _ .
27.y =3x + 1 28.y = 4x — 7 29.y = 3x =3
30.y =% =
y=%x+5 3.y=-3x—4 2.y =—3x—1T
-7 1
3B.y=4x+j 3.y = —2x + 1 35.y = —3x
Example 5 36. Fund-Raising The sophomore class holds a car wash to raise money. A local
(page 300) merchant donates all of the supplies. A wash costs $5 per car and $6.50

37. Fitness Larry runs at

per van or truck.

a. Define a varia
number of vans or trucks.

b. Write an equation in stand
trucks the students must wa

ble for the number of cars. Define a different variable for the

ard form to relate the number of cars and vans or
sh to raise $800.

an average rate of 8 mi/h. He walks at an average rate

of 3 mi/h.
a. Define a variable for time spent

spent running.

p. Write an equation in st
running and walking if he trave

walking. Define a different variable for time

andard form to relate the times he could spend

Is a distance of 15 mi.
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Lesson 6-3 Standard Form




. [ ation' —_
0 APPW Your Skills Graph each equ 39, x +y= 40. 2x 3y =18

fe + 2 = —'6 . = =
38, —3x y4 2y =28+5 P = =g 4
41. — x = - e 46. 6x =

e x—6 45.9+y=8"7% ’
4.2 -y = k mix. You want the toqy, "

ing a snac
ou are preparing uts have 7 or Oty
al 28 grams. Pean SraTs gf Progg;,

of protein per ounce.

: 47, Nutrition Supposey
from peanuts and granola to equ

i e granolfa h?li 3§rr§izisn content of your mix.
i i e
a. Write an equation 10T

b. Graph your equation. Use your graph to find how many ounces of Brang

you should use if you use 1 ounce of peanuts.
tore to buy sliced meat for a party. You are told ¢, -

iven $30. Roast beef is $4.29/1b ang
turkey, and you are given ke
ir:;;tg%?ﬁf i{llfit: :m unation in standard form to relate the pounds of each

kind of meat you could buy at the store with $30.

48. You are sent to the s

alculator Write each equation in slope-intercept form. Then use

Graphing C ¢
g gralfhingg calculator to graph each equation. Make a sketch of the graph, Inclyg,
the x- and y-intercepts.
Real-World @ Connection 49. 8x — 10y = —100 50. —6x + 7y = 21 51 12x + 15y =
OA.;fg?:rtnch;arLTe?nt?OUt 52. —=5x + 9y = -15 53.16x + 11y = —88 54. 3x — 27y = 18
%

__% 55, Writing Two of the forms of a linear equation are slope-intercept form ang
standard form. Explain when each is the more useful.

56. Critical Thinking The definition of standard form states that A and B can't
both be zero. Explain why.

57. Error Analysis A student says that-the equation 3x + 2y = 6 is a standard
form of the equation y = 5x + 3.What is the student’s error?

Write an equation for each line on the graph. Y2 N
~ —=>d
58.a 59. b 60. ¢ 61. d B Bl P
e — X
- =R
& 62. a. Fund-Raising Suppose your school is havingatalent | Tl | |
shqw to raise money for new music supplies. You T 11 T
estimate that 200 students and 150 adults will attend. ~ d ¢

You estimate $200 in expenses, Write an equation to
find what ticket prices you should set to raise $1000

b. Open-Ended Graph your equation. Choose three pé)ssible prices you cou
set for students’ and aduy]ts’ tickets. Which is the best choice? Explain

the same y-intercept as the line2y — 9y = 8

() 64. Geometry Graph each of t
do the four lines form?

2 e Sy W - By, ore

65. a, Graph 2x + 3y = 6and 2y 4 8y =1
b. What is the slope of each [iney ~ -
¢. Compare the x-intercepts of the tw

the y-intercepts related?

he four lines below on the same graph. What figh”

. are
O lines. How are they related? HOW
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